Algebra Operazioni con i monomi

PASSED

semplifica le seguenti espressioni fra monomi

1 | 3ab? + 5ab? — 7ab? ab?
2 |11x + 6x — 8x — 3x 6x
3 0

12y + 8x2 + 7x% — 12y — 15x2

7a’b? — 4a’b? + 8ab + 3ab + 5ab + 9a*b? — ab

12a?b? + 15ab

5 | =5a3b? + 7a3b? + 3a3b? 5a3h?
6 | 7ab? — 5a*b + a*b + 3ab? 10ab® — 4a®b
7 | 4xy — Txy — xy —4xy
8 | 5x + 3y —[2x — (4y — 3x)] 7y
o | [2y(a® — 6a?) + (v + 3y) - a?]: (3a?) -2y
10| [3a2(—2b) + 2a%b — 10a?(—b)](—1,5b) —9a?b?
11| —3ab?(—2a?b) + 4ab® — (—2a®b)(—3b?) — 8a°h? —4a’D’
12| (3a — 4a + 2a)? - [3a? — 5a - (5a — 4a + 2a)]: (3a?) —4a’
131 2a(—2ab)® — 6(—a?b)(—a?b?) + 5a*b3 + 8a®b3: (—2a?) 21a*b?
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Algebra Operazioni con i monomi
14| —7g3 4+ 18a°: (—6a?) — 2a*(—a) + 3a® — 20a3: (—4) 0
15 (xy®)? + y*(=3xy) — 5x%y* — xy*(—4y) —4’y" +xy?
16 | 3x(—=5x3) + (—x?)? + (—4x*)(—2x?) —6x*
17 | x2p2(=3x3b) + 2x2(—4x%b)(—xb?) — (—4x3b?)(—x?b) x°b?
18| —2qa - (3b2) + b(—4ab) + 12a2b?: 3a —6ab?
19| 15a7: (—=3a?) — 3a(+2a*) — 2a?(—4a?) + 6a° 3a°
20| [Bxy®: (=2xy)?]: (=3xy) + [4x*y*: (—2xy)°]: (—2xy) 0
21| [x2y3(=3xy?)(+5xy) — 3x3y2(—xyH)]: [-2x3y(+7xy) + 10(—x2y)?] 3y*
2 3 1 1 1
_ a2 a2 _ A2 a2 a2
22 3xy+4x y +2xy 2x XTI Ty
1 2 3
23 gax3 —§ax3 + Eax3 ax?
1 3
24 | 0,5ab?c — gabzc + 0,3ab?c gabzc
3 1 9 15
25 | 5bc + (Zab> + (—Ebc) — (—3ab) fbc +Tab
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. 5 5 1 1 1 1, 4 3
—§a+a —(— a—§a>—§a+§a —§a+§a
’ 7 7 19 1 3 19
(—ﬁmn)+{§mn— ﬁmn—(zmn+mn—§mn)]} Zmn
12_123 203 0 242 __23__52_12 12_523
o 5ty = (300 ) + (<500  m03ey 4 (o) - (mpy) -0y gty -y
2 4
(_Z 2 2 32
29| (0,4ab) ( Sa b) 2Sab
5 3 .
30 | a[a’x — (2a?x — 3a?x)] — 3a? (§ ax) + 1+ 4a’x (Za — Ea) 1-a’x
5 1 1 1
— 2, — N Y .
n =g (r30) (-5x) 5
8 1
32 _h4d L4 L4, _ 0
(7b = b) (8b — 3b)
1 1 1
| = 2x(=2xy)(=8y) — 4xy(—xy) + (~2y)(-2x) - 8 (—Ex) (_E y) 2y
5 5 1 1 3 a6
34 [Em3n2: (—3mn) — 3mn (—Em) — §mn(2n) — 4m3n?: (BmZ)] —8m*n
35 3 3 2 : 1 21,3 .3 2 b2c2
ab c-(—zabc> :(Eabc> ganc
v33 © 2020 - www.matematika.it 3dis



Algebra Operazioni con i monomi

3 2 4 2
36 [(—12—3ab+5ab) (12—3ab—5ab) :(—;ab> l-(—%ab)—bz-(?)a—%a) —%azb2
2 "\32 3 ' 3 2 ' 4
1 1 3 V| 3 2 1
= 2\(_ = 2 2 2o (2 2 123
38 ( nyz)( 2xz>+[( nyz) ( 2x vz )].(+2xyz> 2% Yz
3 ) ) 7 ) 7
39 [(—y)(—S) + 72y (=4xy?) = Sy + 3xy(2xy )] - (—ﬁxy Z) —gX’y°z
3 2 Z /8 2 1 27
40 T 24,2 — .3 [ _-+8+,5) _ (= _ = ; 2.0 (_ —x2
([ S RERE MR s
25 10 25 15 3 27
41 | — — 7: 4 P 42 _ =7 .3
18¢ (9“) 18 ( 4“)( 5“) 20"
5 3 9 21 9 1
2| — 20305 (2304 . (516 507 [ D dd L3
8mn(2mn)(10mn>+4mn (Zmn> 8mn
1 1 1 \*
43 _ _ _ c (—a2p2)2 1
(3ab+2ab+6ab) (—a?b?)
12 3 2 2 3 3 1 7
a4 | = _Z 25,3 -2, = 2 _{_= 5,6 ——a°p°
5“(4“b>+15“ (+2“b> (5“b> 10
2 3 1 3 1 1
45 [7x5y729 . (ﬁx3y527> _5(_xyz)2] . [x2y227 . (7362)/26)] ;x6y525
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2

1 1 1 7
46| (ab — 2ab)*° '3 + 3 [3a%b? — 2(ab)?]® — (—Eab‘:’) - [(—a*)?])? Ealob10
1 4 1 3 1 2
o l(‘i"yz) oy + (-22%5°) +(_xzy)s(_xyZ)sl:l<_zx3y2> _x6y4] Py
1
48 §{4a2x3y —3a - [4a°x7y: (2a*)x*]}?: [2x(a%x)? — 3a*x3] —2x3y?
2 3
49 gab2 (— E) a3b — (3a®b)a?b? —4q*h3
1 9 9
50 | 3a3b(+2ab*) + = ab? (——a3b3) —a*bs
3 2 2
3 8 4 1 14
_ _ _ A3 2 4.3 K2 . 41,2..3
51 2abx( 3abx)+3ax( Zb) 3abx
2 2 2 3 1 7
£ 2 _p2_.2_°% 2 £ 2 L a7
52 3a b —a 30L+b +2b+3a 5b 3¢ +5b
7 1 3 1 7 1
A2 = _ 42 _ I 2 2 =
53 3ab ( 2>+( 4ab) (+3> (a*b) 12ab+6
1 4 4 13
54 | 0,2ab? + (—3a?b) — (—Ea) — (+§a2b) + (—ab?) — (+0,5a) —gab® ——a’b
3 3 7 9
2204, .24 2 2.4 ' 2 4 _ 2 2.4
55 nyz 2xyz+4xyz 1Oxyz 50X V'
3 1 1
56 | 4mn® — (=5ab3) + (— Z) + (—9ab3) — (— E) + (—=3mn?) + (—mn?) —4qb® -2
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572__12 3x 2 —x) — (2x2 ___1 5 3 2
3% ( Exy)+ x“y + (—x) — (2x°y) + (—x) ( Ex) —gx 5%y
3 1 1 2
58 Zaxy2 + (—Eazxy2> + (—Zaxyz) e (—3a%xy?) -3 %axyz +;a2xy2 —15—3
3 8 1 7 11
59 Exy3 (—§x2y4> + 2ab®(—3a?b) + 7x3y5 (—§y2> -2 x%y = 6a*b°
1 1 1 10
60 | —2m?*n(3mn*) + §x2y3 (—gxy) + 2x3 (—Ey‘*) + mn3(—2m?n?) —8m3n’® — ?xs’y4
1 1 . 3
61| —2x (Exzy) (+3xy?z) — 5x3(—2y?z) (ﬁxy) —2x*y3z
202 1 13 > 2442
62 | (—ab“c) +Zab c“(ab) 12 b*c
1 1 21 55
63 (gbczxz) (Ebzcx3) +§b(—b3c4x6)2 Tog 2 e™x™
2

64

1 4
(—x3y%z)3 + Exzz (— §xy2>

—X9y6Z3 _ §x3yzz

2

1 1 32 1 1 91
3 2 24 2 2v4 21 ap10
65 gabm(gab ) +§b m(za b ) +§b m(ab?) e abm
66 | (3abc)*[(2mnx)3]? + éa4b4x6(5c4m6n6) 5185a*b*c*mbnbx6
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1 2 3 2 /1 \ 1 47 17
67 §b(a3b)2 + (gxyz) (aZm)3 + §a3 (g ab) + §am3x3y(ay)5 Eaﬁb3 +ﬁaﬁm3x3y6
8 1 4 1 1 5
68 (_a3b5c7)3 _§ab3c(§a2b3c5> +Ea3bc6 (§a3bc4> —gagblsc” +41%a18b6c26

1 2
69 | 50(—2ab)3 + 2b (E aZb) — (=2ab?)? — 5a%(—3b?)?

79
——a*bh® — 49a?b*

1 3 3 Y4 37
" (@h)}(—2ab%)* — (50%%) (-2ab)° +(a?b?) (~5ab) L
2 5 8 1 1
71 gazbc3 (+Zab2c) — §ac2 (—Za2b3c2) + 7a®b?c? (—7abc2> ga3b3C4
72| =2 5( 1 ) 3 25( 6 >_|_3 1 11 5
o\"5Y)"2Y "9 \"5Y) T4 97 67 4
L1394 BN 1 205\ 3 01, 17
§+§"-(‘z")+§"‘ +§(‘§’“>‘Z’“-(‘E’C) 675
2 1 5 3 1 8 5 1 1
0 | 222 3 a6 (—252) 12 (=23 = 2y (202 LR
5 (—X)T Y7 —gx ( 4x>+2x( 6x) 15y(4y) 2" T3
1 2 3 1 2 5
a5 | 1(2 p203) (2 p2q4 4 2122 5 .o
!(2abc> ( 2abc)]3a+( 2abc> a“b“c 4abc
76 ( 2 )22.<1 >3+( 2 3+5 5.5 2). 2_|_2 6X+E
3% 3% 3V Yo igy? )iyt +ox 4
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7| [7ab + 2a(—4b)]* — ab Lab S 2p (— 2 qp? -2
a a ab|5a 5 3@ 18

212 4 2.1 24 2 30,020 (14,2 23 5 2
B HED =) () + x5y (=) = B y2)™: (x727) —3x%y
3
1 7 1 5 59
4.3 4 3 3 4 27 7.4
79 [(Ex y Z) ] +§x yz(—3xy) 7% z(xy) L=—7x'y'z
80 _1 2 l 2.(_2 )+(_2 2)2.(_3 3) _Ex
257 )% X xX“)%: X c
1 1 5 10,,10
81 [(cwc6yg:axy3)3—§(ax4y5:ay)3 (§x3y3)]:(—8x5y5) —x%y
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